CEY

Instructions: Show all work. Give exact answers unless specifically to'd to round.

Math 2568, Quiz #4, Summer 2013 Name

1. Solve the electrical circuit problem shown below. You must sITnow the system of equations used
to obtain the solution. Round your answers to two decimal places. The resistors are all in ohms.
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2. Forthe given matrices, A = [1 _1],B = [{) 1 ],C = [ 1 ], determine which of the
6 -2 -8
following products are defined. Choose one of them to compute.
a. AB (2;7.') «(3 M-)
b. BA (3x2)r (zn) =
c. AC (r\)x (3x1)
d. BC (3x2) X (3%1) u/u!..-w
e. CB ()« (3x2) M*J-kv.\»-es
3. Use an inverse matrix to solve the system {gzi __l- SZ : i E
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